
Chapter 8A Concept 1      Name_____________________ 

             Hr______ 

Give each polynomial a name by degree and by number of terms. Use the sentence frame given 

in class.  EX: quartic trinomial with LC of 4 

1.  −5𝑥5 –  5      2.   −2𝑟2  

 

 

 

 

 

3.  5 + 6𝑝      4.  𝑛3 –  2𝑛4 + 10𝑛 − 7𝑛2 

 

 

 

 

 

5.  9𝑝       6.  -4 

 

 

 

 

 

7.  6𝑥4 + 𝑥3 + 7𝑥     8.  6 

 

 

 

 

 

9.  −7𝑥2 + 10 +  5𝑥3     10.  −6𝑝 − 6𝑝2 +  8𝑝3 

 

 

 

 

 

11.  −3𝑏6 + 8𝑏4 − 2 −  7𝑏    12.  9𝑏6 

 

 

 

 

 

13.  3𝑝 + 6𝑏3 − 10 + 2𝑝2    14. −8𝑥2 

 

 

 

 

 

15. −9𝑝3 − 4𝑛5 + 4 + 7𝑛4    16.  8𝑥 − 6𝑥2 − 4 

 



Chapter 8A Concept 2      Name_____________________ 

             Hr______ 

Simplify each expression. 

1.   (5𝑘4 + 8𝑘 − 5𝑘5) − (𝑘5 − 7𝑘4 − 5𝑘)   2.  (−4𝑎4 + 5𝑎 − 5𝑎5) − (2𝑎5 + 5𝑎 + 7𝑎4) 

 

 

 

 

 

3. (−2𝑣3 + 1 − 8𝑣5 − 6𝑣2) − (−3𝑣3 + 2 + 3𝑣 + 5𝑣5)         

 

 

 

 

 

4.  (8𝑏4 − 5𝑏 + 6𝑏3 − 𝑏5) − (−8𝑏3 − 8𝑏 + 8𝑏4 + 5𝑏5) 

 

 

 

 

 

5.  (5𝑛3 + 𝑛4 + 8𝑛5) + (−6𝑛5 + 5𝑛4 − 3𝑛3) + (−2𝑛2 − 4𝑛4 − 2𝑛3)     

 

 

 

 

 

 

6.  (−7𝑥2 − 6𝑥 − 4) + (−6𝑥2 − 7𝑥 − 8) + (4𝑥 − 8 + 4𝑥2) 

 

 

 

 

 

 

7.  (−2𝑥2 + 4 − 8𝑥3 + 4𝑥5) − (7𝑥3 + 3𝑥2 − 2 + 8𝑥5) + (7𝑥5 − 2𝑥3 − 6 + 3𝑥2)   

 

 

 

 

 

 

8.  (3𝑝4 − 3𝑝 + 5𝑝5 + 1) − (−4𝑝5 − 2 − 5𝑝4 + 8𝑝) + (−2𝑝5 + 5 + 5𝑝 + 8𝑝4)  

 

 



Chapter 8A Concept 3      Name_____________________ 

             Hr______ 

Find each product.  

1.  4(−6𝑛2 + 5𝑛 + 1)     2.   3(−8𝑣2 − 4𝑣 + 1)  

 

 

 

 

 

 

 

 

3.  −(−7𝑏2 + 𝑏 + 1)     4.  3𝑛2(−6𝑛2 + 6𝑛 − 7)  

 

 

 

 

 

 

 

 

5.  8𝑥2(−8𝑥2 − 8𝑥 − 3)    6.  8𝑎2(2𝑎2 − 2𝑎 − 5) 

 

 

 

 

 

 

 

 

7.  −5(8𝑘2 + 4𝑥 − 3)     8.  −5(6𝑥2 + 3𝑥 + 7) 

 

 

 

 

 

 

 

 

9.  7(7𝑝2 + 7𝑝 + 7)     10.  −𝑛(−2𝑛2 + 7𝑛 − 8) 

 

 

 

 

 

 

 

 



Chapter 8A Concept 4      Name_____________________ 

             Hr______ 

Find each product. 

1. (4𝑏 + 1)(𝑏 + 2)    2. (6𝑣 + 6)(7𝑣 − 7)   3. (8𝑥 + 3)(6𝑥 + 6) 

     

 

 

 

 

 

 

 

4. (5𝑎 + 6)(𝑎 + 5)    5. (3𝑛 − 8)(4𝑛 − 8)   6. (8𝑘 − 6)(5𝑘 + 1) 

 

 

 

 

 

 

 

 

 

7. (6𝑛 − 8)(6𝑛 + 8)    8.  (8𝑘 + 6)2    9. (𝑝 − 6)2  

     

 

 

 

 

 

 

 

10.  (7𝑛 − 3)(7𝑛 + 3)    11. (5𝑥 − 8)2    12.  (𝑚 + 2)2  

 

 

 

 

 

 

 

 

 

13. (4𝑟 − 1)2      14.  (6𝑥 +  4)(6𝑥 –  4) 

 

 



Chapter 8A Concept 5      Name_____________________ 

             Hr______ 

Find each product. 

1. (8𝑘 − 8)(8𝑘2 − 8𝑘 − 4)    2. (2𝑝 + 6)(5𝑝2 − 4𝑝 − 4) 

 

 

 

 

 

 

 

 

3. (8𝑛 + 8)(2𝑛2 + 4𝑛 − 4)    4. (5𝑥 − 6)(3𝑥2 + 8𝑥 − 4) 
 

 

 

 

 

 

 

 

5. (𝑚 − 4)(8𝑚2 + 7𝑚 − 5)    6. (4𝑟 + 1)(6𝑟2 + 3𝑟 − 5) 

 

 

 

 

 

 

 

 

7. (8𝑛 − 4)(5𝑛2 + 4𝑛 + 4)    8. (7𝑥 − 1)(4𝑥2 − 𝑥 − 5) 

 

 

 

 

 

 

 

 

 

9. (𝑚2 + 4𝑚 − 3)(6𝑚 − 4)    10. (3𝑟2 + 𝑟 − 3)(7𝑟 − 4) 

 



Chapter 8A  PRACTICE TEST     Name_____________________ 

             Hr______ 
Concept 1. Give each polynomial a name by degree and by number of terms. Use sentence frame given in class. 

EX: quartic trinomial with LC of 4 

1.  −6𝑛6 − 6𝑛     2.  4𝑥 − 𝑥2 + 10           3.  −7𝑝4 + 4𝑝3 − 8𝑝 − 7𝑝5 − 8 

 

 

 

4. 3𝑝2 + 2𝑝 − 2     5.  −4𝑘5 − 9𝑘3      6.  −8𝑛4   

 

 

 

 

7.  −8𝑏   8.  −4𝑥 − 6   9.  2𝑛 + 2 − 𝑛3 + 8𝑛2 + 5𝑛4   10.  8 

 

 

 

 
Concept 2. Simplify each expression. 

11.  (−3𝑛3 − 8 − 8𝑛) − (−3 + 7𝑛 − 7𝑛5)    12.  (2𝑎 − 3 − 2𝑎2 − 2𝑎4) − (2𝑎4 − 1 − 4𝑎 − 7𝑎2) 

 

 

 

 

13. (6 − 5𝑥4 + 4𝑥3 − 3𝑥5) − (−8𝑥 + 3𝑥4 + 𝑥3 + 3𝑥5) + (−6𝑥3 8𝑥2 − 6𝑥5 − 7)    

 

 

 

 

14.  (7𝑥 − 5 − 7𝑥4) + (−3 − 7𝑥 − 𝑥2) + (−3𝑥 − 8𝑥4 + 𝑥2)  

 

 

 

 
Concept 3. Find each product. 

15.  4(8𝑎2 + 5𝑎 − 3)   16.  −8𝑘2(−3𝑘2 + 4𝑘 − 7)  17.  4𝑥2(−4𝑥2 + 5𝑥 + 7)  

    

 

 

 

18.  8(−2𝑥2 − 4𝑥 + 7)   19.  −4(−3𝑛2 + 4𝑛 + 4)   20.  8(6𝑚2 −  𝑚 + 4) 

 

 

 

 
Concept 4. Find each product. 

21.  (3𝑏 + 5)(2𝑏 − 2)   22.  (5𝑣 − 7)(8𝑣 − 6)   23.  (8𝑥 − 2)(6𝑥 − 3)  

     

 

 



24.  (2𝑛 − 4)(5𝑛 − 7)   25.  (7𝑚 − 5)(7𝑚 + 5)   26.  (5𝑛 + 3)2 

 

 

 

 

 

27.  (5𝑥 − 6)2      28.  (2𝑟 + 5)(2𝑟 − 5) 

 

 

 

 
Concept 5. Find each product. 

29.  (𝑏 − 4)(6𝑏2 + 8𝑏 + 8)   30.  (8𝑛 − 1)(8𝑛2 + 4𝑛 + 8)  31.  (7𝑥 − 2)(2𝑥2 − 𝑥 + 8)

      

 

 

 

 

 

 

 

 

32.  (4𝑣 + 1)(4𝑣2 + 3𝑣 + 8)   33.  (6𝑥2 + 3𝑥 + 3)(4𝑥 + 8)  34.  (7𝑛2 + 2𝑛 + 2)(3𝑛 + 4) 

 

 

 

 

 

 

 

 

 

 

REVIEW CHAPTER 7 CONCEPT 3. Simplify. Your answer should contain only positive exponents. 

35) 
2𝑦𝑥3

4𝑥2𝑦0
   36)    

3𝑥2𝑦−4

−3𝑦3
   37)   −

3𝑢2𝑣0

3𝑢−3𝑣0   38)    
−2𝑎2𝑏2

−𝑎4𝑏4
 

 

 

 
REVIEW CHAPTER 5 CONCEPT 6. Sketch the graph of each line. 

39) 𝑦 = 4𝑥 + 5                   40)      𝑦 =
1

4
𝑥 − 3  

 
 

 


